Starburst or AGN driven wind?
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We obtained unexpected — 3 — 3 P. Bessiere (U. Sheffield)
results in the optical region, in g0/ | 6000 | M. Whewell (MSSL - UCL)
particular we have very faint C. Silva (SRON)
or non-existent [O 1] lines  soo0l 5000 { R.Tunnard (UCL)
due to a very low oxygen
ionisation parameter. This was 4000 4000 Cloudy Summer School -
most prevalent in the starburst 2014, Belfast
models and could be due to a 3000 3000
confusion over the syntax of
the stellar age option in the 2000 2000
Cloudy input file.
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